Homework 8
Due date: 11.08.04

madej@ncbi.nlm.nih.gov
1. (10 pts) Formulate a query for 3D Domains for proteins with the TIM barrel fold.  Use the strand and helix count fields.  How many hits do you get?  How well do you think your query worked, e.g. do you think it retrieved all TIM barrels, most of them, or only a few of them? Do you think you retrieved a lot of domains that are not TIM barrels?  Discuss the reasons why you would expect such a query to work well or not.  How many of these hits also occur in humans?

2. (20 pts) Carry out an analysis similar to what we did in class (Lecture 8 11.01.04) for the EST in the file called “EST.hw8.txt” (see the course website).  Answer the same questions that we did in class.

